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QUESTION 1

A System z Enterprise Linux Server customer needs a solution of 6 IFLs and 300GB usable
memory to deploy multiple Linux guests. Which of the following models can support the
requirement while maintaining the highest availability?

z114 M10
z114 MO5
zBC12 H13
zBCI2 HO6
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Answer: C

QUESTION 2
Which of the following zEnterprise features learns the unique system characteristics of a
customer’s environment, and helps to detect and diagnose unusual behavior?

IBM zAware

Flash Express

zEnterprise Data Compression (zEDC)
RDMA over Converged Ethernet (RoCE)
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Answer: A

QUESTION 3

A customer runs 8-day-long disaster recovery tests at a remote data center, using disk and a
CEO with minimal processing capacity. Which of the following is the most cost-effective method
to provide enough processing capacity for testing purposes?

Capacity Backup (CBU)

Customer Initiated Upgrade (CIU)
Capacity for Planned Events (OPE)
On/Off Capacity on Demand (OOCoD)
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Answer: A

QUESTION 4
A customer is considering Linux on System z as a target platform for their server consolidation
initiatives. Which of the following actions will provide financial modeling for the solution?

Initiate a RAOEvV study

Perform a CR3000 study

Run eConfig for the z pricing team
Engage Techline for an SOON study
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Answer: A

QUESTION 5
A customer has production and backup data centers with equipment installed to support both
mainframe and distributed systems. Considering projected growth, the customer will not be able



to have enough electrical power at the backup data center. Which is the most cost effective
action?

Relocate the backup data center.
Install auxiliary electrical generators.
Request a server consolidation study.
Install more energy efficient equipment.
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Answer: C

QUESTION 6
What type of coupling links are required to support distances greater than 10 KM?

ICM3

ICB4

PSIFB LR 1x
PSIFB SR 12X
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Answer: C

QUESTION 7

A System z representative is meeting with a customer to determine their disaster recovery
readiness. The customer says they use a Tier 1 solution with PTAM and no hot-site. What
solution is the customer currently using?

FTP

TAPE
GDPS
Hyper swap
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Answer: B

QUESTION 8
Governmental regulation compliance can have a direct impact on which of the following?

Batch workload windows

System securely and audits

Online transaction volumes

Operational procedures and efficiencies
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Answer: B



